
SECTION 5.6: RATIO AND ROOT TESTS

(1) Recall the Ratio Test

(2) Use the Ratio Test to determine if the series
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converges or diverges, or explain why the

test fails.

(3) The Root Test

1

Given IIan .

Find Liz lanate I = r ← m
be

• If r L I
,

Ian Converges

• If h 71
,

E an diverges

o If r -
- 1

,
no information .

Why ? If fishy I an=r
,

then ant ,
I ran

,
Antz I ranttartan

So Antz Pan
, an + ya Man

. . .

Looks geometric !

( 2ND !

Iim Tnt
m .

Ii :¥I÷ .
 

x

= limk@77Y2IjDy-4s1.so E z diverges .

n -7 x n = I

Given I an .

Find align
,

"lanT=r

• If r L1
,

Ian Converges

iii.::: fiahei.ru



2

(4) Use the Root Test on each series below to determine if it converges or diverges.

(a)
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(b)
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(5) Find the values of x for which the series
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converges. Explain your answer.
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